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TEBTRIER D XA 100kN/m?%#8% 2 X1 TEBTAIR D X FE 100kN/m*%#8 % % X i3
ADKRES | tEE |NOKES | tHEF | NOKES| LtH%F | HORES | 1EE ADKRES | tEE |NOKES | tEEF | NOKES| tH%F | HORSS | 1EE
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1~ 2 - - 95.7 1.0 - - 10.1 2.0
2 ~ 3 - - 100.0 1.0 - - 114 2.3
3 ~ 4 106.8 1.0 100.0 1.0 - - 11.9 2.4
4 ~ 5 - - 100.0 1.0 - - 15.2 3.0
5.~ 6 - 1000 10 - - 15.2 3.0
6 ~ 7 138.7 1.0 100.0 1.0 - - 14.0 2.8
7.~ 8 141.2 1.0 100.0 1.0 - - 14.0 2.8
8 ~ 9 141.2 1.0 100.0 1.0 - - 135 2.7
9 _~ 10 147.9 1.0 100.0 1.0 - - 15.2 3.0
10 _~ 11 149.7 1.0 100.0 1.0 - - 15.2 3.0
11~ 12 151.0 1.0 100.0 1.0 - - 15.2 3.0
12 _~ 13 151.0 1.0 100.0 1.0 17.0 3.4 15.2 3.0
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